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Er*Afrqffit$

1 Er rrq-wr + m ff sct Rs rs frttlk qrq tR sr{r
irgfiqrfifrfrq r

z. gr cc<-E{ t E-d s nr< t I

a e$vri*va-tff&q t -
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s. {uRq+tr{+dr3q+rrd r1rfr* r

6. E{nrr-q?rrfi vat s}ff qr E*Arfr * 
"*146q, 

ehi-;r

rr$ sai qr qrqc R-c' A *{I stBs I

(a) Explain the concept of profit maxirnisation and

wealth maximisation. Which one of these is a

better operational guide for finance manager?

(6)

(b) Determine the weighted average cost of capital

using :

(i) Book value weights, and

(ii) Market value weights based on the

following information :

23

LMS Ltd ffikc R-<ur q-ffi erfr t: (rs )

r,so,ooo Em,r{

2 1403

qtfe sqar

qrRrRs'vflrfir f,k ftfr

frff aa rfr E6r{

qRrdffc qrrt sR EEr{

ffFqr errr

ff& fr srss6-dI

'!p0,000 
Ed6T {qr

t0.50

{38,000

{1,00,000

{r

qrc flRq fr src-6"r fr s( 30% *

(i) v-do' +tra + fas cRqrd-{.rd i{N, ffic drt tk
tgm nrrt{ 6r Ktg

t* *sar fu#q qttrdr
A B C

2s% + 3rfuarffi q{

<roo t gFret rtr-r
artl fs('dKin

600/0 404/0 35yo

ts"z# 400/0 60yo 5Uyo

<roocfr + lo%

$ffi rtct
NIL NIL 150/o

P.T.O
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5.

22

(d ut+ sffi qq,,& + q-d{rftt tc q-{{Rr tt,oo,ooo

tr rqt qtr qc * gqilT + arr<ro mur q&} qr

tr

G-ff 1u <a yR <ar{ il

qrq6l fl6Rr6flr (qlne dt Etsot) + Rg nx ur

nqqm scr ir (rz )

('r) w{ mr *Bc ilcA q} dsr *( Etcr 6tl + cfumr

q( wl frfur (e )

(u) wA{fe fA arwoer* * ewtqq + Rq fffrq

geA+ R TqI *frqr (o)

(r) rfrrm qo'* wr nnr{ }i tufr u,{ + Er{ifr

fO unroaru] t6r ixnfirFr cl] i q[ xFH$ cc]

t?(e)

External Financing opportunities are :

(D tl00 per debenture redeemable at par, l0-
year maturity l37o coupon rate, 4yo

Flotation cost and sale price t100.

(ii) tl00 per Preference share redeemable at
par l0-year maturity 14% dividend rate,

5% flotation cost and sale price t100.

(iii) Equity shares {2 per share flotation costs

and sale price t22.

Dividend expected on equity shares at the end of
the year is {2 per share, anticipated growth rate
in dividend is 7%, the company pays all its earnings
in the form of dividends, corporate tax .rate is
30o/o. ( 12)

1403 3

Book value structure t
Debentures ({ l(X) per Debenture) 00,m0
Preference shares (t 100 per share) 2,00,000
Equity shares (t l0 per share) 10,00,000

20p0,000

BI9IiII

P. T. O.

Recent market price of all these securities are:

Debentures tl l0 per debenture, Preference shares

tl20 per share and Equity shares {22 per share.
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(a) Explain how the scope of finance function has

changed over time. What role does the finance

manager play in a modern firm? (6)

(b) The following is the capital structure of XYZ Ltd

Presently the debentures are being traded al 94o/o,

Preferehce shares at par and Equity shares at

tl3 per share. Find out the Weighted average cost

of capital based on Book value weights and market

value weights. (12)

(a) "Trading on equity is resorted to with a view to

decrease EPS." Comment on the statement.
(6)

(b) X Ltd. is considering replacing a machine having

the written down value of 11,60,000 and it will be

fully depreciated at the end of 2 year. The

2t

(o) tfr< tqtt frfrs, (s,z )

(i) +{( Fqrffi (et6. ke)

(iD fuc ilqEI

(u) et zozs * zt<m vo, 6ffi qI irflFr s,oo,ooo

rorri or qr sii 2024 * +{T rIRAfr rfi {qr'r<R

r<rq r{{+ fr sft *r fi-fi ae + dr.r{ sr slfrl(

{tqrd rB rrn t:

lf,crr qrFm 4o%, rflrfi rwg! zoz", iir.t(i{s

20%

i[ElI qa qff*r 
'R sflrfit c6] fi-{T&+ ffi'v6-

d< t ru<r * *t s-tqrr< * qfii tq' vfrqr I rwt

* sk qcr wcr t ft Es+ rooz q'd wo, qff$ *t
ffiq{ rrtn-d tr tqn {d +qrc + fi-{ qff} ro war

tr ffi anr iETd iBc 6A qm fr Bffi 6
arte * qn qfi* * ft iqeRt- * Eqr qm *B( tcur

d ilt€ * fi-c cff+ *r

4 1403

,|

Sou rces Amount (l) Specific c/c (cost of
caDital)

Equity share capital (2,00,000

shares of I l0 each)

20,00,000 llo/o

Preference sharc capital
(50.000 shsr€s of I l0 each)

5,00,000 iYo

R€tained eamings 10.00,000 io/o
7.5olo Debenture of { 1000 eaclt 15,00,000 4.5o/o

P.T.O
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4 (6) rfiSq q,r dco sr€-( + frs{ + ilqrur d yrsFrm-n

i +* ft-q *? s{6 rqrrrdrfr q< qd dfrqr

(c)

(€) x Ltd. 3rrff af,{Fr aor fffr 6} {q-d+ rR ftqp 6q

rff tr Go-et' qr F-E<vr *i frqr rrqr *:

tor+iB Ti{ra A B C

FrS'r (O 50,000 56.000 60,000 62,000

ciIaf,*q drrrfr
(8elo) (o

40,000 44,800 48,000 49,600

ftQ'a-6 6p1-6 111 16,000 t6,000 I6,000 t6,000

3itsd ,iz6 3rcfu
(ft-d)

30 45 60 75

qE ff+$ d qt eoz * H] w+ s'r& ft-+-fr fr q.en

QRqr (rz)

remaining economic life of the machine is 4 years

after which it will have no salvage value. But if
it is sold today, it has a salvage value of{1,20,000.

It will generate revenue of t5,20,000 per annum

for 4 years and incur expenses of t3,80,000 per

annum. It can be replaced by a new machine

costing t4,80,000. The new machine will generatc

revenue of t9,20,000 per annum and incur annud

expenses of 15,80,000. Additional working capital

of t2,00,000 will be required if the new machinc

is bought. Depreciation on the new machine will
be charged at the rate of tE0,000 per annum to

make its book value equal to its salvage value of
t1,60,000 at the end of 4th year. Tax ratc of th.
company is 30%. Advise the company if the cost

of capital is I 5%. ( 12)

Year I , 3 4
PVF at

t5%
0.870 0.756 0.658 0.572

Or

(a) "Cash flows of different periods in absolute terric
are incomparable." Explain the reasons and ho*
they can be made comparable? (6)

r 403 5

olet{t

P.T.O.
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(b) Y Ltd. is considering an investment proposal

requiring initial investment of 150,000.

The corporate tax rate is 35% and the company

uses Straight Line Method of depreciation. The

estimated profit before depreciation and taxes from

the investment proposals are as follows:

Year PBDT PVr 10% PVF 11% PVF 120/0

I I1,000 0.909 0.901 0.893

2. 20.000 0.[t2(, 0.E12 0.797

3 18.m0 0.751 0.731 0.7t2
4. 15,000 0.683 0.659 0.636

5 12,000 0.62 r 0.593 0.567

Calculate:

(D ARR

(ii) NPV at 107o discount rate

(iiD rRR ( 12)

(a) "The payback period is more a method of liquidity

rather than profitability". Examine the statement

explaining payback period method of capital

budgeting. (6)

19

BIEEIT

(c') tff s-se fftrq] or tsro+ qlt cqq il anr * qqn

<+''fi rcr6 q( flT *Bd el u,le l? (e)

(q) i[t6+{ twercfl * qrt T$crt t r,oo,ooo erfrfut

Aqt *, ftH{ t e*+. Aqi loo dq} fr q1 q1 }nt unr

+r ffi qr(ffl q{ + ird i e tq} cR tq( +

Hrqnr d *qw qr ft-qn fi r& *r t'{ S tS d
q(r( aFFr lo% il vq-Vq Effiq d qrq-tn* d

?net Ev, ffifird vrcl * Eft Afrs:

(i) s{ + 3rd d +c( d ffr-d Hr frfi qe (i)

HM.n Afud r€l frqr qrdr A, (ii) ilqnr tR-d

fuqr vrdr *?

(ii) qE 16{ 6r {a arq <lo,oo,0oo A *{ s-qE +

*ac uo,oo,ooo 6T ;{qr fft$ ffiff *, A

ffi ffiiil- + ffi rs +s( iilt frs wi

scs? (rz)

P.T.O.

r 403
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.n{ qr sqr$a t36,00,000

EGqA fut fr s{64r 3p0p00

yr<rr frv rs drqrfl d q+am <u,oo,ooo

gffi qt vkdrrr lSyo

EM d arrc t0%

(ii) Hr 16 Ee-fi yariiqlcrd l? ge:r{ IrrflT

il:Iqrd IR A{ or {u <r l?

(iii) qtr t'{ otv} trt 61 fra-d aoo tsqr qrrfr t
* g:rflT ir{qm wr +ir qrfrs?

(iv) murvr ynm * ER t s.{ 6-s ft-sR qfr qt$?

(rz )

(b) The following information is provided to you about

PQR Ltd. :

1403 7

Earnings of the firm

No. of equity shares

Amount of dividend paid

Rcturn on equity

Cost of Equity

t36,00,000

3,00,000

<18,00,000

t5%

. l0o/o

(i) Calculate the present price of the share

and the value of the firm using Walter's
Model.

(ii) Is this the optimum pay-out ratio? What is
the value of the firm at the optimum pay-

out ratio?

(iii) What should be the payout ratio if the firm
wants to keep its share price at tl60?

(iv) When will the firm be indifferent about

dividend payment? (12)

Or

(a) Why do we focus on cash flows rather than

on profits while evaluating capitaI budgeting
decisions? (6)

P.T.O.

(i) qr€{ * frea qr ss+{ E.'6 ftri fr {dffi

*ffi*{q.,{*{gdwnrd&qr
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(b) Aakarshan Textiles currently has outstanding

1,00,000 shares selling @tl00 each. The firm is

contemplating the declaration of dividend of t8
per share at the end of the current fiscal year

that has just'started. The firm's opportunity cost

of capital is l0%. Given the assumptions of M-M

approach, answer the following questions:

(i) What will be the price of the share at the

end of the year if (i) dividend is not

declared, (ii) dividend is declared?

(ii) If the firm has net profits of t10,00,000

and makes new investments of {20,00,000

during the period, how many new shares

must be issued in both the situations?

( l2)

(a) How does Gordon's Model differ from Walter's

Model to relevance of dividends? Discuss their

similarities. (6)

(b) X Ltd. is considering changing its present

credit policy. The details of the options are given

below :

t7

rrur<r dfrq:

(i) sflRqR

(iD ro% fr {gr qi Tt \r{ftfr

(iii) iflr{sRrfln (rz )

(t.) 'fftn srcfr lrsD ilqc-{dl + ffiIr.I trtriilr trl vfi

dtfir t'r {frrm cwe fr frfu sl{fr s-qE frfu fr
qrqr q'<i sra A-{ur qil.dq dfrst (o)

(€) PeR Ltd. + qR I qlq6) ffifre vmott s'ffi

* .r€ t:

1403

3.4

qtt *ffJr& +esw
10"/"

+&cq.
110/"

+ffqr'
120/"

I I I 000 0.909 0.901 0.1t93

20,000 o.826 0.8r2 0.'197

3 18,000 0.751 0.731 0.7 t2

4 15,000 0.683 0.659 0.636

5 12,000 0.621 0.593 0.567

P.T.O.

8

2.
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om { Er+r c& {s{ t,60,000 * qqEr€ Tq * vlr*

*{+r sffi fr o''t d q( 30% *r uR iff d errn

rs% t, n) 6ffi d gers Afrqr (rz)

s{ I 3 1

I5% IR
trfrqcF

0.870 0.756 0.65 8 0.572

SI2rrIt

(a) ffim w * Efrq u-{m + {64 rsu rga-ftq il.
Ec* qnq sq dfts rt'E* Ac*q dt q-ffi ur

ffin ti (c)

(€) y Ltd. ct^ frirr y<rq rn frqR 6( {fr t frrt* Rs

<so,ooo * cRftq' ffan d flsqqq-f,r tr qiftc qr

6 rt s5% i ft 6ffi lunr fr ffff tcr R& qr

sc{irrr q.'r€t il 1u-am t qs+ rgqrf< arq uk frisr

nwr+- + qr{ ffqEm f ;

Advise the best option if the rate of investment is

20%. oz)

Or

(a) Write short notes on : (3x2)

(i) Stock-Split

(ii) Scrip- Dividend

(b) The production of a company during the year 2023

was 5,00,000 units. The same level of activity is

expected to be maintained during the year 2024.

The expected ratios of cost of selling price are :

Raw materials: 40Yo, direct wages 2ot/o, overheads

z0%

1403 9

Crcdit Policy PrBena A B c
Sales (<) 50,000 56,000 60,000 62,000

Variable cost
(80%) ({)

40,000 44,800 48,000 49,600

Fixed cost (t) 16,000 16,000 16,000 16,000
Average collection

peri od(day s )
30 60 75

P,T.O

The raw materials ordinarily remain in a store for
three months before production and the production

45
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remains in process for two months and is assumed

to be consisting of 100% raw materials, wages

and overheads. Finished goods remain in the

warehouse for three months. Credit allowed by

creditors is four months from the date of the

delivery ofraw material and credit given to debtors

is three months from the date of the dispatch.

The estimated balance of cash to be held is

t1,00,000. Lag in the payment of wages and

expenses is half month.

Selling price is {8 Per unit.

You are required to make a provision of 10% for

contingency (except cash). ( 12)

(a) Discuss the consequences of lengthening and

shortening of credit period by firm. (6)

(b) Discuss various approaches for financing the

working capital requirements. (6)

(c) What do you mean by operating cycle? Why is it

important in assessing the working capital

requirements of a firm? (6)

1403 15

2. (6) {ftc( d 6q q'r+ + ftq Effi q( iErr 6r rcm

frqr vrdr *r gq s,m q( tqfi dfust (o)

(E) x Ltd. r,60,000 + qfikdWqfrTfi-{6}{@+

qr frirr 6{ rfi t f,tt E(6I 2 sS * rt i 1t crr

t aarm * vtvlrr ffi{ d ic acdh-dl $ft a s{

I fr<* cre war iir'i flsRq {m "6 
3*, flftl

wR It qrq i-qr qmr flcFIq {€
<rpo,ooo *r qr I sqJ * frc ffi s{ {s,2o,ooo 6I

{trF{ 3Fr-r *ff flk ffi q{ ts,8o,ooo 6,I E{

otrtr Et t4po,ooo d arrc crff sq, q{ citr{ ERr

cffi{ frqr qr ro-<r *r q{ qfir cR s{ {ero,ooo

?rr lErFr ssq 6tih ak ts,eo,ooo qr lllffl?5' qc

rtrtr qf Tin-{ <H vt <2,oo,ooo d sfrfi'R

6r&na. tff qil qrqsrtr-dl *itr <t q{k{ qr Tq{rt

tso,ooo rR q{ 6 E( t ftqr qrqzn aft *t s{ +

5

P.T.O.
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(m) we dfrs fr qqq * qM ftr q'o-r w srcu d+

vRafrk gur tr ro aqfro u''{ + Ff, c-etr6'Hr

$6r Atrdr t? (o)

(e) xvz Lrd. fr {fr {r*+ ffifua *r

q{c'ai Baqt qr q,tqr e4%, flfrqrft M * rqn

ft ERqA fuir- oT qrtsn rs tqt cR +{r s(

fr-qr qr ra lr e-& 1iu qRr+' *r qrqn Tq qnro.

* snm rr tff d qrR( *sd arqa nn dfusr

(rz )

1l

Or

LMS Ltd provides the following details : ( l8)

Installed Capacity 1,50,000 Units

Actual production and sales 1,00,000 Units

Selling price per unit {l

Variable cost per unit {0.50

Fixed cost t38,000

Funds required il,00,000

Assume Income Tax rate is 30oZ

(i) Degree of Operating Leverage, Financial
Leverage and Combined Leverage for each plan.

1403

utd ${flRIG) frtrs!$fiqrqil
gk& rYrl iS 1u-d+ r ro
i u,oo,ooo ltag

20,00.000 I lo/o

srfuflfr ct{( rs (< ro

e'i+fr + 5o,ooo r}{Io
5,00,000 8%

10,00,000 Iyo

7.s% Ef{{ r*s, { looo sr 15,00.000 45%

CaDital Structur! Financial Plans
A B C

Equity shares of t
100 each to be
issu€d at 25%
premium

600/o 4ff/o

15% Debt 40% 60% 50%
l0olo Preference
sharcs of t 100
each

NIL NIL l5o/o

P.T.O.

glsti{T

cfttnftd icrfd
35o/o
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(ii) The indi fference-point between plan A and

B.

(iii) The Financial break-even point for each

plan.

Suggest which plan has been more financial risk?

(o) mq se'+-drt-cl sil( $r sfut-flrqi{ur 6 s-{qRW

d qq 6frsr E{t t at{-ff fi-ir mqo- + frs q+'

fud( ceqrfi cr.ki6 i? (c)

(u) ffiRe 61 3c+{ 6t* {0 fr qrfr Slqil flFra

ffic dfrs:

(, q& {a qRr6, *t

(ii) fuifrkd ilrort + ifluR rt qrmr Tq r{rd6 :

rfr ax i<tat {
Etir{ (< loo ctr Eil-{r) 8,00,000

nftnrfr rhn ({ loo efr *rO 2,0o,ooo

gfta-& t+r (t lo cfr rhr{) 10,00.000

20,00,00o

r 403 t3

E{ r(ff nfu{M- tfit lrFI t qrqri {s E{{ JttfiR t:

€tqt <no cR Bfur, BIErqrn fu{ {r2o nR *c{ *r
ERqA Aq( t22 cfr twt

qr6fr ffiqq * ffifuc ir+rt *:

(D tmo rR G+fi T{I<{iq qt ffiq *, ro s{

6 cfrq€or 13% r$Fr E{, aoz, qe-{fr€rfl drrr{

*r frff Ts troor

(ii) {roo rR 3rE{rft *c( ro c{ d cfuffidr uz
arqtu qt, 507" qEffi661 arrn qk fffr 1u
<too * qc{F( qt qHq *r

(iii) EM *fi rz rR ict Es-{fi-d-dr arrra st(

ftff {s <zz *r

c{ + iffi{ Effi *qit- vt atqrsr 6lr$e tz !R

*rt *, drqnr { r€rRrd gE qt zx t, ffi EFIHr

* rq i irrff <rt qqr{ qr grnr< c'ce t, 6ick{

tt d sr 30% il (tz)

t

P.T.O.


